— B

przekiadnie
e

=} moToRr




Wymiary PMRV025

50
45

45

35

e /In.|.|_i| o= | oy
- T Nl | <
| |
D
(Y4 T 9
G'Ge |§'¢¢
8 G¢
€8
08@ G

71

45

/i

L1

LB/

L
!
@55

50

45

18

8zl _

70

FA

Waga-0,7 kg

B moTor 138



Wymiary PMRV030

40 , 55

81

I.ﬂ T

= 54
T JJ_J;L
A e Eg—

M6x11 i
WO e
-h|i|| IIiI

|

@865

75

20 45

Pm

29 j6

70

10.2

PAMIEC | Pm | DmEs | bn tm
63B5 140 11 4 12.8
56B5 120 9 3 10.4
63814 90 11 4 12.8
56B14 80 9 3 10.4

M~ —
0| <
o
r~ @™ 2
> £
wn
o] )
o ™ =
q‘ o
I
Bl
© 32
44
56
5 63
o
%3 21 21 @
<
"!' f Z — E
- 7777
54.5
6
o
T
3
(]
FA
Waga-1,2kg

B wmoror 19



Wymiary PMRV040

50 , 70
101
I7S) 70 | u bm
©
E
|l £ 7 -
! o +l
Mex8 | @ s -
- %
¢>'\Q;\
45° 0)
23, 53 4
w
- o
B ©
Q
E

67

B~

@60 Hs

78
73
A }r
b
w I“I'
©|<|8|o - "_{_
— < \ 2
o — o
- @
3| =1
o 43
w
60
71
78
b 24.5 ! 24.5
°
T
4
=]
T
L]
(=]
(O]

PAM IEC P Dm E8 bm tm D Hs b t
71B5 160 14 5 16.3 18 6 20.8
63B5 140 11 4 12.8 19* 8" 21.8*
56B5 120 9 3 10.4 * - jako opcja
71B14 105 14 5 16.3
63B14 90 11 4 12.8

B wmoTor 20

@80 Hg

Waga-2,3 kg



Wymiary PMRV050

60 , 80
121
B 80 bm
I c
f — N
|, i 3 {q:,*
M8x10 Dm
%
s)
Q>,\@
45° o)
30, 64
M6
T
@«
=t
[>]
E

90

0w

@70 H8

FA
5 []
ATTH =
1 =
e
| =
i 5
10
89
PAM IEC Pm D E8 bm tm D Hs t
80B5 200 19 6 21.8 25 8 28.3
71B5 160 14 5 16.3 24* 8* 27.3"
63B5 140 11 4 12.8 | * -jako opcja
80B14 120 19 6 21.8
71B14 105 14 5 16.3

B moror 21

92
87
Y ! ™
s 03\
@ 5]
ﬂ_ _[—.-_
| =t
7B \IFsIV =
o T =
og L L (]
(‘D 3
I
[Te]
= 49
70
85
92
b 30, 30
| i

o el e
' ]
- I
Iy ll 7  FATFS
I I

Q
’_y
e

|

i

|

2
@70 Hs

FB
=]
I
L
[=2]
Q
5
14.5
Waga - 3,5 kg



Wymiary PMRV063

84 08@

=8| - 5[8|S
o =
£9 G'80@
08 | 0S
200 Zl
vl
£ _ =
Sl w a
wd
,
(Te] g _
g -
w0lo
1 <t+O+—
2 8 o
e H D
1 =T
8

M8x 14

35

112
35
ISl

g'le

()]
=
(o]
3
O
1
]
[=)]
2
*
©| &
= loo|—
o™
*
L |co|co
S,
)
=%
o
o« * o
I(w|loo| &
022.|.
"
"
MM mlm
] B e e I el 7]
NN~ | N~
£
a|lo|e|w|lo|lo|w
©
Yelol<lslolx
E|lN |~ | —| |~ |~
(=]
EloIo|o|o(o|w
NEIEIEE R
NN~~~ |~
(& ]
Blolo|wl 2|2
D00 mnmlm;
= elel=8 88
MQB?QST

B moror 22



Wymiary PMRV075

120

114

119
93
75

205

&
®
— O
| &

60

|

86

@95 hs

13
6
=]
= =
o
o
Q
100/112B5| 250 28 8 31.3 28 8 313
90B5 200 24 8 27.3 35" 10* 38.3*
80B5 200 19 6 218 | .. Jako opcja
71B5 160 14 5 16.3
100/112B14| 160 28 8 313
90B14 140 24 8 27.3
80B14 120 19 6 21.8

B moror 23

@11.5

120

40 40

|

1

1
@110 H8

[0
£

Waga -9 kg



Wymiary PMRV090

11

103

129.5

208
140

M10 x 18

@24 j6

Pm

bm

tm)

Dm

6
(=]
T
o
Ty ]
Q
| e
1 =
i o
L
| IS
6
17
PAM IEC Pn | Dm Es bm tm D Hs b t
100/112B5| 250 28 8 31 3 35 10 38.3
90B5 200 24 8 27.3 38* 10* 41.3*
80B5 200 19 6 21.8 | * - jako opcja
100/112B14| 160 28 8 31.3
90B14 140 24 8 27.3
80B14 120 19 6 21.8

B moTor 24

140
134
//T\
AN
Bl e
— o
=113 \| [[¢]| ¥
2 i
@l R ||
2
) |74 S
S 100 s
130 -
140
b |, 45 45
°|
18
6
o
e
o
)
[S]
I o
| =
H ]
| ==
| &
M 6
13
Waga - 13 kg



Wymiary PMRV110

127.5 , 160
I
252.5
0 . bm
- 170
i@ £
B = al g @y T
2
! ’ Dm
M10 x 18
0,
"O
{L
45° 9
60 135 8
M10
™

@28 js )
m

PAM IEC Pm Dm E8 bm tm
132B5 300 38 10 41.3
112B5 250 28 8 31.3
100B5 250 28 8 31.3
90B5 200 24 8 27.3

80B5 200 19 6 21.8

B moror 25

155
148
.
. HOOH
° ol o |3\ /E
o] = =
2 =¥ S
ol o :|: =
~| . Q
N > | 9]
- ;
5 115
144
155
125 49 49
-
Te] =]
< T
i : &
i Tit o
15
6 6
£ T
o [
- P~
Q Q
FB
Waga - 35 kg



Wymiary PMRV130

147.5 180 170
I
292.5 162

200 b

15.5

tm
N,

©,
|
Pm
.‘P?
187.5
i
L@D,
r

@180 hg

140
130
ya
\

Dm

335

M12 x 21

147.5
100
I

@16

20
45° 55

80 155 8
M10 170

14 57.5 575

J i _@ ',_'f_,i"'_'

48.8
@45 Hg

@30 j6 )
m
&
33
|

140
15

g16 __F |

ui o

| =

22.5° i Q

45°
PAM IEC Pm Dm E8 bm tl'n
132B5 300 38 10 41.3
112B5 250 28 8 31.3 Waga - 48 kg

100B5 250 28 8 31.3
90B5 200 24 8 27.3

B moror 26



200

T
P

~
oSt 8l
08l 0cl 5
(0574 0Ll
00 v

192

N\ &
—
b
185
200
Y 728
7

145

725
'777'1!2

e N
Wi\/
N |

B8HOBL

!

165

L A¥
(o |
e | | )
SN
&

(e
\E
5

210

170

Wymiary PMRV150

Waga - 84 kg

tm
44.3
1.3
313

bm
12
10

D E8
42
38
28

Pm
350
300
250

PAM IEC
160B5
132B5
100B5




Przekladnie slimakowe PRV

9
Q

0‘:}_:!0

O

|
|

b1

t1

o o}
PRV 030 040 050 063 075 090 110 130 150
B 20 23 30 40 50 50 60 80 80
D2 j6 9 11 14 19 24 24 28 30 35
G2 51 60 74 90 105 125 142 162 195
G3 45 53 64 75 90 108 135 155 175
a 30 40 50 63 75 90 110 130 130
b1 3 4 5 6 8 8 8 8 10
f1 - - M6 M6 M8 M8 M10 M10 M12
t1 10.2 12,5 16 21.5 27 27 31 33 38
Brakujace wymiary na stronie 18-27
3. Akcesoria
Waty wyjsciowe
L | Lq
B1 | Gy B4 B
B t4 ___ B B
ry
o —_—= = tes — e = o
f
AS AB
dhe B B1 G1 L L1 f b1 t1
11 g6 23 255 50 81 101 - “ 12.5
PMRV025 9 "g 25" 30" 50 85.5* 101 - 3 10.2*
PMRVO030 14 30 32.5 63 102 128 M6 5 16
PMRV040 18 40 43 78 128 164 M6 6 20.5
PMRVO050 25 50 53.5 92 153 199 M10 8 28
PMRV063 25 50 53.5 112 173 219 M10 8 28
PMRVO075 28 60 63.5 120 192 247 M10 8 31
PMRV090 35 80 84.5 140 234 309 M12 10 38
PMRV110 42 80 84.5 155 249 324 M16 12 45
PMRV130 45 80 85 170 265 340 M16 14 48.5
PMRV150 50 82 87 200 297 374 M16 14 53:5
* - jako opcja
Pokrywa
iE : ] N2 N2
PMRV030 47 PMRVO075 79
PMRV040 55 PMRV090 94
PMRV050 63 PMRV110 102
+ PMRV063 73 PMRV130 117

B moTor 28




